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Part A: Microeconomics (3 points each for questions 1-12; 2 points each for questions
13-19)

1. Which' of the following characteristic belongs to the production function Q =
JKJL 2 (A) increasing returns to scale (B) decreasing returns to scale (C)
constant returns to scale (D) increasing or decreasing depending on the value of K
and L (E) undetermined

2. Under similar conditions, which of the following oligopoly models will have the
lowest price? (A) Stackelberg (B) Cournot (C) Bertrand (D) Shared monopoly (E)
Collusion

3. Which of the following is not required for a perfect competition market? (A) Firms
sell a standardized product (B) There is free exchange in international trade (C)
Firms are price takers (D) Factors of production are perfectly mobile in the long
run (E) Firms and consumers have perfect information

4. A monopolist faces a demand/curve of P = 100-2Q and a short-run total cost curve
of TC = 640 +20Q. What is the profit-maximizing price? (A) 60 (B) 50 (C) 40

D)20(E) 10 d -

5. Compensated demand curve'is located (A).in the right 'of uncompensated demand
curve (B) in the left of.uncompensated |demand curve (C) steeper than
uncompensated demand curve (D) flatter than uncompensated demand curve (E)
parallel to uncompensated demand curve.

6. Firms with the following market structure(s) maximize profits by producing where
marginal cost equals marginal revenue, if at all. 1. Perfect competition II.
Oligopoly III. Monopoly IV. Monopolistic competition (A) I only (B) I and
1T only (C) I and HI only (D) L, ITI, and IV only (E) I, II, 111, and IV

7. A loud party in the neighborhood is disturbing people living nearby who would like
to sleep. Which of the following is most likely to lead to an efficient solution the
problem? (A) Ban parties (B) Permit parties that end before 10 p.m. (C) Place a
tax on parties equal to the value of the lost sleep that results (D) Place a tax on
parties equal to the value party-goers receive from their parties. (E) Subsidize
people living nearby equal to the value of the lost sleep that results

8. A production possibility frontier will be a straight line when (A) efficiency is
achieved (B) utility is maximized (C) the good on the axes are perfect substitutes
in consumption (D) the marginal product functions for all inputs are straight lines
(E) resources are not specialized

9. The demand curve for labor is derived from (A) the market labor demand curve (B)
the demand curve for the output produced by labor (C) the labor supply curve for
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10.

11.

13.

14,

16.

17.

18.

19.

the firm (D) the equilibrium wage in the labor market (E) the market labor supply

curve |

In the long run, a monopolistically competitive firm (A) earns negative economic
profit (B) earns positive economic profit (C) earns zero economic profit (D)
faces a vertical demand curve (E) faces a horizontal demand curve.

The value of the marginal product of labor always equals the marginal revenue
product of labor for which type of firm? (A) Wage taking (B) Monopsony (C)
Monopoly (D) Price taking (E) Oligopoly

. The condition that P = MC is the direct requirement for which type of efficiency?

(A) Distributive efficiency (B) Technical efficiency (C) Efficiency in production
(D) Efficiency in exchange (E) Allocative efficiency
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Part B: Macroeconomics (30 points for the first question and 20 points for the second

question)

1. Consider a firm with profits given by w=[(eL)*/a]-wL, where 0<a<l, ¢>0,

L is the number of workers, and w is the wage rate. A labor union has an
objective function given by U=(w-x)L, where x is an index of its workers’
outside opportunities. Assume that the firm and the labor union bargain over the
wage rate, and that the firm then chooses L taking w as given.

(i) What value of L does the firm choose, given w? What is the resulting
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level of profits?

(ii)Suppose that e=1 and suppose that the firm and the labor union choose w
to maximize U'n"", where O0<y<a indexes the union’s power in the
bargaining (this is known as the Nash bargaining solution). What level of

w do they choose?

(iii) Suppose that e={(w-x)/x} for w>x, where 0<f<1. Suppose that the

Will an
increase in S raise the Nash bargaining solution of the wage rate w? —

firm and the labor union still choose w to maximize U'n'"".

Please use intuition to justify your answer.
2. Consider an economy with a production function:
(DY, =4K L™,

where Y is real output, X, is'capital stock, and L is the “effective work

I

force.” A and o .are constants, and 0<a<]l.
The effective work force is the product of three terms:
()L =6nL, : =]

where L is the population, a constant, |k is the skill level of the typical
worker, and 0 is thesfraction of time the typical worker spends producing
goods. The time 1-8 not spent producing goods is devoted to schooling
which leads to improved skills, according to:

(3)h, =h +y(1-0)k, where y>0.
The savings rate for this economy is constant at s, and
K =(1-85K, +sY.

(i)Suppose that X, =K /h. Show that X, converges to a fixed value X as

1—> . Express X as an explicit function of the parameters (s, 4, «, 0,
L, 8 and 7).

(ii)Describe the dynamics of this economy from a given initial position
X,=K,/h,.
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